2 23 22 2 20 19 18 1" 16 15 1 13 12 1 i [} 1 1 4 3 2 |
FSAOSI REV DESCRIPTION DATE ENG ECO # |APPR
- |RELEASE FOR PRODUCT ION 26MAR0O3 LR
A [ADD C(1X) #6 FLAT WASHER;; (2X) M3 X 10 SCREW;; 0TMAY03 LR #1246 DF
REPLACE M3 X 04 SCREW WITH M3 X 06

WASHERGFLAT 90706004 WASHER, FLAT #6 M/S 15795-805
WASHER8-FLT 90706009 WASHER, #8 FLAT §S . 174 X .375 X .032
WASHER4-40FLT 90706032 WASHER, #4 FLATWASHER $7 123 X .315 x .02
SPRING240X500LG [90701327 SPRING, COMPRESSION .240 OD X .50 LG, SS
SPRING250X330LG [90701002 | |SPRING, #88 (.250 DIA x .33 LG)
SCREWM4AC1 4SS 91100414 SCREW, M4 SOCKET CAP 14 SS
SCREWM3AC10BZ 91000310 SCREW, M3 SOCKET CAP 10 BZ SEMS
SCREWM3AC6BZ 91000306 SCREW, M3 SOCKET CAP 06 BZ SEMS
SCREWM3AB06BZ 91010306 SCREW, M3 BUTTON 06 BZ NYTEMP
RIVET41-43DMG 90701160 | RIVET, 41-43 DOME MULTIGRIP
FS059 99080205 - |PLATE, LAMP ADJUST Z-AXIS, X-SPOT
FS060 99080206 - |PLATE, LAMP ADJUST LIGHT BLOCK X-SPOT
FS061 99080207 - |PLATE, LAMP ADJUST BASE, X-SPOT
FS062 99080208 - |PLATE, LAMP ‘X ADJUST, X-SPOT
FS063 80071733 - |PLATE, "Y’ LAMP ADJUST, X-SPOT
NUTMAKEP 91201204 NUT, M4 KEPS
Fs804 99310379 - |LABEL, LAMP PLATE WARNING, X-SPOT
FS752 80300018 - |HARNESS, LAMP SOCKET, X-SPOT

ITEM NO.| OTY FILENAME PART NO REV DESCRIPTION

BILL OF MATERIALS

UNLESS OTHERWISE SPECIF IED|RELEASE DATE: MARCH 27, 2003]CE. High€nd 2208 WEST BRAKER LANE
DIMENS IONAL TOLERANCES: [ENG: D FRANKLIN 0A =, R
PRODUCTION PRINT | o ftact deciuat =038 [y = SO G510 s uewAvE
; 2 PLACE DECINALS =0 13 [NFG: DRW: D FRANKLIN cvenome® hifp:i//umn highend. com d
High End Systems ANGLES = £0.5° DESCRIPTION
FOR PAINTED PARTS REFER To |ASSY. LAMP CAP SLOT ADJUST XS SVC
7/18/2003 ENG. SPEC. WANUAL Wi-0592 [wrreaini- FnisH:
MIN. DRAFT CHARTED NA
PROPRIETARY NOTICE MIN. RADII INTERPRET DIMENSIONS PER S| e DRAWING NO. REV
THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE. " g -
THE RECEIVER ACCEPTS AND AGREES THAT, CICEPT AS AUTHORIZED BY HIGH CND SYSTEMS, THE RECEIVER VILL NOT PERIT THE USE OF THE DOCUNENT OR ANY COPY THEREOF OR THE By: Lee Fredrickson FLATNESS ?S‘MRED X‘N‘éLgMPQS}“CmN METR IC 8 O 3 O O O ‘ 9 F S A O 5 ‘ A
INFORMATION THERE (N, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO OTHERS EITHER THE DOCUMENT OR THE INFORMATION THEREIN, AND WILL UPON COMPLETION THICKNESS A1
OF THE NEED T0 RETAIN THE DOCUMENT, OR UPON DEMAND, RETURN THE DOCUMENT WITHOUT RETAINING ANY OF THE INFORNATION CONTAINED THEREIN IN ANY FORM MHATSOEVER VOLUNE DIMENSIONS ARE IN MILLIMETERS DO NOT SCALE _ [SCALE: 1000 [SHEET: 1 OF 1
77 73 77 7 ™ T T8 T T 5 T B 7 T m T g T g g 7 7



Lee Fredrickson


Lee Fredrickson
7/18/2003




